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Q.3)
(a)
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Fill in the blanks (Any8) (8)
Full form of DIN is

The of company must be lifted if the company assumes as enemy character.
Sharing of profit is important in partnership although sharing of is not requisite.
A minor is given months to decide whether or not he wants to become a partner.
Publication in the is necessary for dissolution of firms irrespective of
whether the firm is registered or not.

Copy right is granted for years.

Patent is granted for years.

is a person who agrees to subscribe the prescribed amount of shares if the
shares issued not fully subscribed.
The penalty for failure to furnish any documents, return or report to the Board is
in SEBI.
The is an invitation to an offer to public.

True or False : (Any 7) (7)
In case of conflict between Memorandum of Association and Article of Association,
Memorandum of Association prevails.

Doctrine for the benefit of Company is called as Doctrine of Indoor Management.
Adaption of Novel amounts to Violation of Copyright.

Trademark is transferable.

LLP cannot be would up.

Contribution under LLP shall be entered for determining the profit sharing.

Notice to an active partner is notice only to that Partﬁi’r and not to the Firm.

Sharing of Profit is Primafacie evidence of Partnership, -

An appeal against the order of SAT under SEBI Act may file in Supreme Court.

Listing of Securities means grant of approval for dealing in certain securities at a stock
exchange.

Explain Characteristics of Company. (8)
Explain Doctrine of Ultra Vires and Doctrine of Indoor Management (7)
OR
Explain Prospectus and What are the different types of Prospectus ? (8)
What is Private Placement. Explain rules of Private Placement. (7)
What is Copyright and what do you mean by original work in Copyright ? (8)
What is Patent and What is Patentable and non Patentable. - (7)
OR
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Paper / Subject Code: 77801 / Business Law 11

Q. P. Code: 33026 -

(c) What is Trademark. Explain the types of trademark along with trade marks which cannot be
registered. (8)
(d) Explain infringement of Copyright. (7)
Q.4)
(a) Distinction between LLP and Company (15)
OR
(c) Explain Holding Out and Contribution according to LLP (8)
(d) What is LLP. Explain Salient Features of LLP. (7)
Q.5)
(a) Explain Enforcement of Security Interest under SARFAESI Act. (8)
(b) What is SEBI? Explain its Objects. (7)
OR
Q.5)  Write Short Note (Any 3) (15)
1. Doctrine of Constructive Notice
2. Whistle Blowing under LLP
3. Types of Partners
4. Derivatives
5. Powers of SEBI
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DURATION-2HRS.30MIN
Note

= All questions are compulsory subject to internal choice.
= Use of commercial calculators is allowed

A direct quote is a home currency price of a umt Qf
Inflation and mterest rates are not correlated. ;g

Fixed and variable are the two extreme exohange raieiregxm;\s‘j: R

The annualized percentage difference between: sgeg?ate and‘f rw%rﬁjra
O Triangular arbitrage is also known as spattal arbtti‘agé S& <

I. The process of arbitrage will <"
1) Normalize b) Incréajs{'

,u{ndlces Eem_(éen

countries.

a) three b) two rb) four d) o
. 1atcs-a mined: y. the demand andsugp]; of aSSpec;ﬁc currency as compared to
‘Other currency - [ e : )
a) Inflation ~* b)F orward c) S,pot' d) E}cohange BT
6. The price:at wh:t}h a markét makeér.is. prepared 1o sell\(a CLm'ency) is termed as
a) Spotrate <b)Bid: rate . ¢) ForWard Tafe: : d) ask gncn
7. Standardized foﬂVatgl comract\a are called 3
, a) Future contracts - b}\ﬁwap cmtracts o) Opﬁo’h ooﬁh‘acts ~d) None of the above
S 8. Quotation whme--fhe prioé of one Imit of forelgn.currency 1s given in terms of local currency units
Is called as - = .
d) Direct quotatlon

_'irect‘&iuotaugn c) Qpcn ended d) Close ended

a) 1999 Wy : : EA c) 1989 d) 1991
10, Price of: natlonal eurreLnC}hn"terms of for‘elgn currency is
a) Duecl terms b): Indlreqt ’terms c) “Law of once price d) Purchase price

Q.2 A) Dcﬁne Formgn Exchange Market Write characteristics of Foreign Exchange Market.  (8)

B) Explaln functlons of Ferelgndixchange Markets. (7)

Foy A OR
Q2C) erte about major partlczpant in Foreign Exchange Market. (8)
D) Advantagés and dls,advantages of Gold Standard System. (7
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-/ Q.3 A)Write a note on Central Bank as a participant of Forex Market.
bt B) Difference between FERA and FEMA.
OR

i) USDINR 60.5060/61.5150

ii) GBPAUD 1.2050/1.2150 Ll
D) From the following find out spread % spread and mld—ragé.

USDINR 65. 2350/66 2560 :

Q.4 A) Discuss Managed Floating.
B) Explain spot Contract.
OR

USDINR 65.3250/65.5550 Bank A
USDINR 66.5850/66.6580 Bank B
) Find out the Forward Rate for the following®
Spot USDINR - 63.5000/63.8000 - -*
1 month margin 50/60 Aa
2 month margin 756/556

Q.5) Short notes on (Any 3) 4 f 2
a) Vehicle currency
b) Speculation

¢) Direct quote

d) Arbitrage

e) Capital Accour;t
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Paper / Subject Code: 77807 / Corporate Finance

{

Note: 1) All questions are compulsory.
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N{R\L oY

(22 Hours)

2) Working Notes should form part of your answer.

3) Figures to the right indicate full marks.

0Q-1) (A) State whether following statements are true or false: (Any eight)

1.
2

9.

Shareholders are interested in maximising their wealth.

Risk and return always goes hand in hand.

Rate of interest for debentures is fixed

Cash Inflow = NPAT + Depreciation

Contribution = Profit + Fixed Cost

Preference Shares are given flexible rate of divid_eﬁd.

(Total Marks : 75)

(08)

Profitability Index is traditional method of assessing capital expenditu_re"decisions.

An overcapitalized company is one which inctirs exce‘p_tionﬁlly high profits as compared

to industry.

Capital Budgeting refers to mix of a company debt and equity. -

10. P/E Ratio stands for Preference Equity

)-1) (B) Match the columns: (Any seven)

53214

_ (07)
Column A -~ Column B
1. Assets a. Issue df new securities
2. Replacement of Equipment b. Earning@;‘.l)zzi‘ Share
3. «Credit Sales ¢. - Equity Per Share
4. Credit Purchases d.  Excess of sales over BEP
S BRS ¢. International Trade
6. Working Capital f. CA-CL
7o MOS g. Debtors
8. Bonus Shares h. Creditors
9. Floatation Costs i. Free Shares
. J.  Capital Budgeting Decisions
k. Liabilities + Equity
Page 1 of 3
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Q-2) Flame Ltd has the following data for the coming year: : "o (19)
Sales (10,000 units) ~ Rs. 1,00,000 ‘ S
Vartable Costs Rs. 40,000
Fixed Costs Rs. 50,000

Find out PVR, BEP and MOS.
Evaluate the effect of following on PVR, BEP and MOS
(a) 10% increase in variable cost
(b) 5% decrease in selling price
OR
Q-2) The ZED Ltd needs Rs. 5,00, 000 for comnnssmmng of a new plant. The followmg three
financial plans are feasible: : e ) T g (15)

i) The company may issue 50,000 equlty shares of Rs. 10 per share.

ii) The company may issue 25,000 equlty shares of Rs ‘10 per share and 2, 500 dcbentures of

Rs. 100 denomination bearing 8% rate of mtelest ;
iii) The company may issue 25 000 equity shares’ of Rs. 10 per share and 2,500 preference
shares at Rs. 100 per share bearmg 8% rate of dividend.
If the company’s earnings before mterest and taxes is Rs. 60,000 and Rs. 1,00,000, what is the
EPS under each of the three ﬁnan(nal plans for. both EBITs? Which alternative would you

recommend? Assume corporate tax rate to be 50%.

Q-3) Camel Ltd has the followmg capital structure as on 315‘ March, 2018. (15)
: : Particulars g " Rs.
Ordmary Shares (4,00,000 shares) - 1 80,00,000
10% Preference Shares 71 20,00,000
14% Debentures : 60,00,000

The shaleq of the compa.ny are presently selling at Rs. 20 per share. It is expected that the company
will pay next year dividend of Rs. 2 per share which will grow @ 7% forever. Assume tax rate of
40%. You are required to
i) Compute the weighted .average cost of capital based on existing capital structure.
ii) If the company raises an 'additioﬁal Rs. 40 lakhs debt by issuing 15% debentures, the
expected dividend at year end will be Rs. 3, the market price per share will fall to Rs. 15 per

share, the growth rat¢ remaining unchanged. Calculate the new weighted average cost of

capital.
OR
Q-3) (a) Explain advantages and disadvantages of bonus shares. (08)
(b) Discuss merits and demerits of Ploughing Back of Profits. 07)
53214 Page 2 of 3
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Q-4) Aarohi Ltd is considering two mutually exclusive machines. Both require an initial outlay of
Rs. 1.00.000 each and have a life of 5 years. The company’s required rate of return is 10% and tax

is 50%. The projects will be depreciated on a straight line basis. The profit before taxes are

expected to be generated by the projects as follows: - (15)
Year Machine A Machine B
1 40,000 60,000
2 40,000 30,000
3 40,000 20,000
4 40,000 50,000
5 40,000 50,000

Calculate and state which machine should be purchased based on:
i) Profitability Index and
ii) Payback Period

OR
(-4) Company is considering two mutually exclusive projects. Both require initial investment of
Rs. 2,00,000 each and have a life of five years. The Net Cash Inflows are given below: (15)
Year Propoéal Al Pr(')posal B | PV factor PV factor
(Rs.) (Rs.) at 10% at 20%
1 50,000 55,000 0.91 -1 0.83
2 52,000 53,000 0.83 0.69
3 58.000 58,000 75 0.58
4 55,000 55,000 0.68 0.48
5 50,000 55,000 0.62 0.41

The cost of capital is 10%. Which proj ect should be accepted as per NPV Method. Also find IRR,
taking 10% & 20% discounting factors. :

£
Q-5) (a) Explain determinants of Capital Structure ? i (08)
(b) Explain debentures as a source of finance. (07)
OR
-5) Write short notes on: (Any three) (15)

1) Features of Capital expenditure decisions
2) Break even Analysis

3) Importance of Corporate Finance

4) Qualities of Finance Manager

5) Over Capitalisation.
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(2 2 Hours)

B : (1) All Questions are Compulsory. A
(2) Figures to the right indicate full marks. o
(3) Draw neat diagram wherever necessary.

The concept of national income is a monetary measure._ ol

Trade cycle is recurring in nature.

Arbitrage does not help to equahze the exchange raic
Quotas are less effective tha,ﬂ tariffs A PR e
10. Foreign Direct Investntenf {FDI) daes ﬂot mvdlve transfer oﬂgehuelogy

‘.“}‘ 7 o ﬂ.. _’
O o / “1. ,“«

Q1. B) Match the followmg paxrs- (Any 7) g 2 g
Gn‘mp: ” ) ‘3 Group )

1. Gross DQﬂiest.lc ProduttfoDP) y i Aoceptea Umversally

2 Investmentﬂemand‘ ‘7 o | b Cash Iip»serve Ratio (CRR)
3. Inﬂandn targénng ' c Oﬂ"er curve

4 Du‘écl; conn‘f)ld'“"; -' T ‘“ & Trade Account
3 5 Flséalpblw;f. | ‘i 7:' ;
F 6 Expen.dliure on éducmon : ;;.""‘ Tt C+I+G

A R D

- N

IR -e. Productive Expenditure

: 7 Export Gf Goods : ¥y g. Spot rate
o 8 Gains oftx_'axwiek & _‘“ 2 h. Price forecasting
kD Cur(ent Exchauge«“Raw TS i. Marginal Efficiency of Capital (MEC)
10 Vehlcie Currency 2 S j. Taxation
i A “ﬁ‘\ ‘
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Paper / Subject Code: 77810 / Equity Markets-II S_r
o2 |osTty
—
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Duration : 2.5 hours Marks : 75
N.B.: 1. All questions are compulsory.
2. Figures to the right indicate marks.
Q1. A. Match the following: (Any 8) 8 Marks
Column A Column B
1 | NSCCL A | Speculator
2 | Law Governing Companies in India B | Nifty
3. | Prospectus C | Companies Act
4. | Macro Economic Factor D |Based on financial performance and
ratios
5. | Fundamental Analysis E | T+2
6. | Dividend Payout F | Executes Trades on clients behalf
7. | Settlement Cycle G _| Percentage of Dividend Paid
8. | NSE H | Settles trade for NSE
9. | Risk Taker I | Government Interference
10. | Broker J | Offer Documeprt
B. State whether True or False: (Any 7): 7 Marks

1. Contract note is also known as bought note or sold note.

2. RBI came into existence on 1* April 1935.

3. Stock market quotation consists of a bid price and an ask price.

4. There are 13 clearing banks of the NSE.

5. A bull market means market in upward trend. ,
6. Under multiple growth model, changing growth rates are applied to different time period.
7. The Random walk theory is not based on the efficient market hypothesis.

8. According to head and shoulders pattern, shares will go up when it is observed.

9. According to technical analysis “history repeats itself”.

10. The perpetual jiggling of the particles is now called as Brownian motion.

Q2. (A) Explain the advantages of FDI 8 Marks
(B) State the role of SEBI in regulating Indian capital market. " 7 Marks
T
<" B )bR
. @
C. Explain Volatility Index VIX. What are the catises of Volatility? 8 Marks
D. Explain the types of issue of shares in Indian capital market. 7 Marks
Q3. A. What is Fundamental Analysis? What are its strengths and weaknesses? 8 Marks
B. Explain in detail industry analysis. 7 Marks
OR
C. Explain the IPO Process in detail 8 Marks
D. Explain the macro economic factors. . 7 Marks
53071 1
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Paper / Subject Code: 77810 / Equity Markets-11

Q4. A. Explain the Brownian Motion and its limitations.
B. Explain the three forms of the Efficient Market Hypothesis.

OR

C. Explain the stochastic models in equity markets.
D. Explain the concept of Beta in the equity markets.

Q5. A. Explain brokers and their duties.
B. Explain in detail about stock market quotations.

OR

Q5. Write short notes on: (Any three) 15 Marks
a. Retail investor

b. NSCCL

c. Disinvestment

d. Fll

e. BSE BOLT

EES LRSS 22 2 P22 22t

53071 2
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Paper / Subject Code: 77812 / Marchent Banking

O, §

ole in the issuance of Bonds: ~,_'- BC

9. Mearchant Bankers play an important r
the most difficult method “Tel‘ aco

10. Sponsored Level 1 ADR programs are
the US Capital Market

11 A Explain the various services offered by Merchant bankers. - -
B What are the benefits of listing a company at the stock cxchange?
OR.* 3

C Explain in detail the book building process.
D What are the SEBI guidelines relating to adverusemems ibr‘an”fssue

I1I A What are the advantages of ADR issue?
B Briefly explain the qualities required by Mer

C What are FCCB’s? Explain its featurcs.h ey o IR
D Discuss the different categories of m\festd:s m Bﬁmary fﬁaﬂ(ef. :

IV A Explain the role and respons1b1hiy ofdss‘uqr,r PA‘ ancL
B State and explain the dlfferenmpes ‘of De :. :

A

C Discuss in detail the procgdg&fﬁr&”ssﬁaﬂb o’f ’Bona»&

D Discuss the role of the pa@xpgmt ‘i&%kvsd 111 ﬁw GDR 1 *

; i«g}‘ - i : %

V A What are Rights 1sswa93ﬂ xplai fgﬁwov1mpn relahngtb Rxglx xssuc
B Difference betweﬁﬁ@&apﬁ,ﬁﬂk Loyl : I i

‘)

Pl .‘>\J"\, x
C Write Short,:ﬁates' (Any3)
2 Fuaﬂue@bﬁ"Mefsh&nt Bang@mg
2. Lnde:wﬁter RSN
3. Rol¢'of Regl‘sti’az mIPO MG
4. Fungibility = < .77 0 oS
.,«\’%[axa,tmn f FCCB Mo

Page 20f2
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Paper / Subject Code: 77813 / Personal Financial Planning O #O S—BU’

5 suprm seew mm o Y

Time: 2.5 hours Ve Matks: 5
Note: All Questions are Compulsory / The abbreviation PFP stands for Personal FmanC1al
Planning.
Q.1. (A) Multiple Choice Questions (any 8) %o y 3 A “ av ! (8)

1) Don’t keep all the eggs in the same basket is related to X ;
(a) Live healthy life (b) Diversified portfolio (c) earn prof t (d) None of these

1 2) Parameter for deciding on investment options is PRI ; '
(a) Reputation of the company (b) Diversified portfoho (c) Post tax return (d) None of these

3) Fixed Deposits with SBI is investment.. ;
(a) Moderate Risk (b) Diversified (c) High Risk (d) Low Rlsk

4) Health Insurance and Mediclaim is related to' . : Y S
(a) cash generation technique (b) mvestment optlon (c) mvestmg m shares Y or
(d) health & medical planning X

5) Value investing means ' ; ' ; ~ D o ot
(a) cash generation (b) Stocks are: selectecl that trade for leSS than intrinsic value (c) Stocks
are selected that trade for more than 1ntrms1c value (d) health & medlcal planmng

6) If 1.5% per month interest i is: earned then for 24 months what w1l1 be the Nommal Rate of
return? -

(a) 36% (b) 24% (c) 15% (d) 16%

7) Effective rate of return con51ders ; ; mterest. ; ¥ P
(a) Compounding (b) Simple (c) EXponentlaI (d) Inﬂatlonary

8) IRR is the rate of returh at which present value of P same
(a) Outflow & Inflow (b) Debit & Credit (¢) Income & Expendlture (d) Profit & Loss

£
9) If the amount 1nVested in mutual fund is Rs 1 00 000 aﬁd after 4 years the sales proceeds
are Rs.1,35.000, the CAGR will be ¥
y (a) 7.791%(b) 35% (c) 18% (d) None of thess.

10) If amount available to Eqmty shareholdels is Rs 2,00,000 and number of Equity shares
are 20,000, the EPS will be " . &
(@) 10.(b) 12 (¢) 10% (d) Nonc of these

Q.1.(B) True / False (any 7) (7)

1) People invest in stocks instead of creatmg portfolio is the positive investment style.

2) Determining current ﬁnanc1a] posmon of the client is not required while preparing
financial plan. :

3) Cash planning is a techmque which comprises of planning for and controlling of cash.

4) Real rate of return is the amount of money generated by an investment before factoring for
taxes.

5) Incremental rate of returns is a metric used in capital budgeting for measuring the
profitability of potential investments.

6) Evaluation of investment alternatives is not required while preparing the financial plan.

7) Budgeting & forecasting means the same concept.

66914 Page 10of 3
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Paper / Subject Code: 77813 / Personal Financial Planning =~ el

8) Information available in the cash flow statement is useful in assessmg th "blll\'
enterprise to generate cash. e

9) Net worth is the difference between assets and liabilities of an mdnhclual

10) High P/E ratio is one of the most commonly used metric in value 1hvest1ng

L3

Amount borrowed: Rs.4,40,000
Compound Annual Interest: 12%
Repayment period: 10 years

Q.3(p) Dr. Prasad purchased 400 shal‘es of
He paid the total brokerage 0 FRs,600

Year Total
Dividend Rs. |
June 2015 8007}
June 2016 1000 o
June 2017 12007 S8 oSS OO TR ETSS
He sold all his holdmgs for Rs 34" 0'on' 15" Octobe 201'].“-;Cii_leu'late Holding Period
Return. A B ANS:

(q) Calculate EPS. base 1 of followmg nfbrrﬂatmn prowded'
Particulars : ' /

Sales B 18; 0"

Cost of Goods sold g it 7;20 000
Operating: Expenses - | 43.60,000.

Interest - ,8() 000
Tax 30%

Pr efe're'nce. Div'iden“(lh ‘ 901000

No.of equity shares | 8,000

Q. 4 Plepare Cash Budget of Mot11a1 lumted from the data given below for a period of six

months (July to December) KoK (15)
Month Sales (Rs. ) . "Purchases (Rs.)

My o v S 81 500;:,5 93,750

Juder” {78 <O -~ 1,87,500 93,750

Tuly VAP G S 875,000 1,31,250

August 2 " 5 5o O S 5623500 9,18,750

September- o7 & 47 +F 2 ~17:50,000 3,18,750

Qctober (87w W5 57.48,75,000 2,43,750

November o 415 % 57 375,000 1,68,750

Decembet < i (M5 3,43,750 -

1) Collectxon est1rnates 5% within the month of Sales, 80% during the month following the
sales and 15% dunng the second month following the sales.

66914 i Page 2 of 3
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Paper / Subject Code: 77813 / Personal Financial Planning

ii) Payment for purchases is made in the next month.

iii) Salary of Rs.28,125, Lease payment of Rs. 9,375, Miscellaneous expenses Rs 2 875 are
paid each month. _

iv) Monthly depreciation is Rs.37,500.

v) Income tax Rs.65,625 each is paid in September and December

vi) Payment for research in October Rs.1,87,500.
vii) Opening balance as on 1™ July Rs.137,500.

(5

OR o & '

Q.4 From the following data supplied by Yog limited, evaluate the Car manufacmrmg
projects based on NPV and advise the management as to Whlch pro_lect should be
continued and why? ol

Particulars Maruti Figt &< Toyota

Initial Outflow 40,00,000 60,00,000 80 00 000

Inflows: oo P -

Year | 6.00,000 8;1’0‘,000“ 12 00 000

Year2 12,00.000 |  16,20,000 | 74,00,000 ] .«

Year 3 15,00,000 | . 20,25,000 ] 30,00,000 |

Year 4 21,00,000 | 28,35,000-| ~42,00,000 |

Year 4.50,000.{ .~ < 6,07,500 | - 9,00,000 |-

Year 6 7,50,000 | - 10,12,500 | :15,00,000

Yearl} 12,60,000 | " 17,01,000 [ 25,20, 000

You need to apply the dlmenng_factom ment;oned below NN
Year 1 s U iy BRSO Ao ‘.-6 i &

Def@10% | 0.909 :-0;3826'-_- 0.751 0.683 | 0.621- o 564 0.51_3 '

Q.5 (a) What do you mean by behanural ﬁnance'? : :‘." (8)
(b) Exphm the role of emotmns in ﬁnanmal dec1s1on makmg. (7)

37 54 SoRrs e

Q.5 Shon;Nm.(anys-)f‘ P 3 S SR (15)

1) Effective rate of return :

2) Motives of holding cash

3) Time value of money

4) CAGR = & &

5) Education Planning

669145 SN Page30f3
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